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1. 70035 LDRAEFRAT, 7075 LDMN~NEBEZEI,
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RN //7 5 ZSeiza

FEHZATIL, 12BHAT 4 27 VLAIWCEKRT b, import java.util.Scanner;
AT =%

JEAEH public class Seiza {

><~>< X X (B 1X) public static void main(String[] args) {
FEiThE R int tanjoBi, 1i;

dEHOAHZA LTS int[] seizaBi = { 119, 218, ~ 1221, 1231 };
JEEH 1221 . ) . o e o
CREEIE] W Stringl] seizaMei = { "®EFEE", "ATHROE", ~
S 193 WTHEE", ’@%BZ }:
[EFEIR] AT Scanner sc = new Scanner(System. in) ;

S04 1 - 801 System. out. printlnF"é@iEl@ﬁ HEASLTLIZEW");
[EFEIZ] L LJE System. out. print("FAH ") ;

- 1 = sc. :
PR whi ? _ag?o i

1. BoH seizaBi ICEEIAR DR HZ, ALY seizallei ICRFE o o

B 5o 1B, SEIIGETTHIEL T B, while(_@) ] < tanjoBD) {

5] R

seizaBi (0) W~ 12 }

119 \ 218 ~] 1221 \ 1231 \ System. out. printf ("[EPFEIZ] %-5s¥n", seizaMeilil);
TH1IH~ (1 H20H~ _ [11H22H~) (12H22H~ . ny
(i) Ueitse] ~ Utene) (i) Systen.out. printInC™);
seizaMei (0) (1) ~ (1) (12) System. out. print("FEAEH ")
| DX [ ATEDE [~ OTHE | PEE ] tanjoBi = sc.nextInt();

2. F—RK—FooHEINOLS I, FEAOHAAANT 3, J

158, BH seizaBi ICEEIBES N TWARKHEB X OHAEH 3, sc. closeO);

ROFD X SIS N TV 5, }

fl 307 — 3H87H }
3. HAEHES EITEA seizaBl 2R L, B2XD XS I
FRT B,

4., F=FK—=FroiEHIC 0 PATTSNI S ZE TS 5,
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2. 7005 LDMBAZHEAT, 7075 L0DB)~B)ZEZEILY,
<7073 LDREA> <Java7ZoisL>
DRI AN //7 5 ZEria
F == DAGEKR T — ¥ A5tA, T b5 public class Eria {
7 va vilE ) TRIOAGE T 4+ AL A public String erialei;
ICFHRT 5, public int nyujoKei = 0;
AT —% public Eria(String eriaMei) {
ANGEHT—% (7 74 IV%% @ nyujo. csv) this. eriallei = erialei;
H|7r527vava—r[z)7a— ¥ ABEK }
X X X X X X XX X public void gokei(int nyujo) {
(B1EX) nyujoKei = nyujoKei + nyujo;
FITHER }
(7 +35 2 v a vHIABER public void hyoji(O {
(Tr57vavd) (ABEHGH (MK int heikin = | (3) |
74 LA MA 7,304 ). 8.0, ¢ System. out. printf (" %-3s %, 7d %, 6d¥n", eriaMei, nyujoKei, heikin);
FA4F -1 8, 264 Yk kK }
l l l 1
Ty AVY—75yva 3,962 %k
NRX—=Td— 7,416 2. 0.0 ¢ // 7 5 ZTemaPaku
(=) 7THIASGEEO import java. io. BufferedReader;
(=) 72) (AGEHGED (1 HoHE) import java.io.FileReader;
RER 47, 160 6, 737 import java. io. I0Exception;
i &Ik 56, 712 8,101
AR 40, 057 5, 122 public class TemaPaku {
oy X 15, 931 2, 218 public static void main(String[] args) throws IOException f{
2R String[] atorakuMei = {"", "7 # LA MA "o~
JBEIES R "AR—TT— ")
L. ®1IKDoT b5 7 ¥ ava—Fial~20, String[] erialei = { ", "#&%", "MLk, "REHE", "Fv 2"},
TY)7a—-Fizl~4<Tho, 1HEHDFT—% Erial] eriaJoho = new Erial[5];
DELERSI N TV B, int[] atorakuKei = new int[21];
2. B atorakullei 27 b 57 v a v %E, for(int h = 1: h <= 4: hid) {
B4l eriallei I = ) 7/ ZFLIET 5, 4B, eriaJoho[h] = new Eria(eriaMeilh]);
atorakuMei OIRFE T M7 ¥ a va— K&, }
erialei ORFIF TV 7 I - FERILL TV S, for(int i = 1: i <= 20: i+ {
[l atorakuKeil[i] = 0;
atorakullei (0) (1) ~ 20 }
’ ‘7 * VA I*A‘ ~ |7JX_’G:’¢_‘ BufferedReader fileIn = new BufferedReader (new FileReader("nyujo.csv"));
eriallei (0) (1) (2) (3) (4)

String line;

ALK | FH 22 w 2
’ ‘**&>k ‘“ﬁ&7k‘ AR |4:’ A ‘ while((line = fileln. readLine()) != null) {

3. F—=~=/N—=7 oDz 7%%Iﬁ—d—é Eria 7 7 & String[] str = line.split(","):
A v Ry v L, BEF eriaJoho ICFCIE T int hi = Integer. parselnt(str[0]):
%o 158, erialoho DIRFF, =V 73 —=F int atorakuCode = Integer. parselnt(str[1]);
EXHRL TV B, int eriaCode = Integer. parselnt(str[2]);
[l int nyujo = Integer. parselnt(str[3]);
eriaJoho (0) 1) (2) (3) (4) atorakuKei [atorakuCode] = | @)
’ ‘ ‘ ‘ | ‘ eriaJoho[eriaCode]. gokei(nyujo) ;
1. 1RO ABERT — 5 E5is, NSERE |
fic7| atorakuKei IC56519 %, 7108, atorakuKei fileTn. close():
DIRTFE, ThI7vava—FEMELTY for(int i = 1: i <= 205 i+D) {
%o Fiz, TV THNCALGERESRGTT 5, System. out. printf ("%-14s %, 6d ", atorakuMeili], atorakuKeil[i]);
il int j = atorakukeili] / 2000;
atorakuKei (0) (1) ~ 20 for(int k = 1: k <= j: ki) {
’4 ‘ -~ | ‘ System. out. print("%");
5. T AhGAKAIILDE, TS0 v a Vil )
ASEHAFE KO L ICERT 5, BB, Systen. out. println(""):
AR, 2 TACEE Th] 2EFT 5o |
6. mEIT, TV 7LD HOEHERDE , . .
KTk, 852 KOK S o RR L CUBAET ot L LB
I 5,
1BOFY = ABEHIH - 7 )
}

(® Integer.parselnt( XF5|H )
XFHINEDTF—5 =HER (BH) [CX#E
ER-D



